
Pre-Calculus - Honors

Worksheet#26

Lesson 26

Answers

1)g(x)=t' - 4* -x+4 2vqriotions * 2orOpositivereol noots
g(-x)= -x3 -Lxz +x+4 lvqriotion= lnegstivereol noot

p = tl. +2. t4 The x-intencepts oppeor cf -1, l, 4.
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x = t-1, 1, 4t

2)h(x)="x3 - 9xa*zOx-12 3voriations= 3orI positiwreol roots
h(-x)= -f -9* -?U,-tZ Ovoriotions=OncAotivercd rpofs

P= r1- 12. *3. 14. 16. *12 The groph shows x-intercepts of t, 2, 6.
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test: I I I | -9 20 -12
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3)h(x)=x3* 12* * 21x+ 1O Ovorio?ions =0Fositivcrsol roots
h(-x)= -f +!2x2 -21;+ 1O 3vqriotions= 3orl negotiveneol rcot

p = tl. te. tp. *lO The gnoph shows x-interrcepts qt -10 ond -1
grl wherc there is tongency.

?esr: -10 I I 12 2l l0

Now test wil{r the previrus guotient to look for the repeqtirg rcot.
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4)(x-4Xf*4x+16)
5)(x+3Xx2-3x"9)
6)(x*6Xf-6x*36)

x = (-1, -1, -1O)
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